REINVNE

BRI, B2k

NORIS DRILLREX§53L

e e | NN AV AT S

c Quality &
Made in Germany

CN ISO 9001 CERTIFIED




REINE

BRI, B2l

NORIS DRILLREX UNI SERIE

REIVE




REINE

BRI, B2l

WERFFESDIN 6535 HARRE
WERAZE H6

HEBtEIRLT

« SR B

. SHTERE
BRI (BH)
 STEEHEE (TEAI5H)
RN EFERAEII TSt

DIN 6537 L
ERE%E
12y R30°

TN VAES e

. BT
- e
- L

ANTJiE A » BRI

/\
XA 3z
140° JIfEERD
. o IRDERIFZR
<« m7—>» ° ﬁétﬂﬁu

U INTERARES, REEHISIENTE

NORIS DRILLREX UNI

PERFEKTE GEWINDE BEGINNEN MIT DEM RICHTIGEN SPIRALBOHRER!




NORIS DRILLREX UNI

DIN 6535 HA

@ rrEaRE

SIHRITIRISEE R EE.
HRIESCRRAIIN T DR B AR AR EE

&P SUMMARY OF ASSORTMENT

THE LISTED CUTTING DATA ARE STANDARD VALUES. A
THIS VALUES HAVE TO BE ADJUSTED TO INDIVIDUAL WORK CONDITIONS.

ALTIN
VHM

° - f (mm/u)
EIE Ve (m/min) d, =10 mm

§MEkA STEEL MATERIALS MAT * MIN MED MAX § MIN MED MAX § MIN MED MAX f MIN MED MAX § MIN MED MAX § MIN MED MAX § MIN MED MAX f MIN MED MAX

ALRIES SN Unalloyed and low-alloy steels < 800N/mm? | P11 [A5M 80 | 130 | 180 | |0,11]0,26 | 0,25 || 0,26 | 0,20|0,28 || 0,20|0,25 | 0,35 || 0,23 | 0,28 | 0,40 || 0,25 | 0,31 | 0,43 || 0,27 | 0,34 | 0,47 || 0,29 | 0,35 | 0,49

<1200 N/mm? | P 1.2 AEM 50 85 120 0,11/0,15]0,241(0,16|0,18 | 0,24 || 0,20 0,24 10,30||0,23|0,26 |0,34((0,25|0,29|0,37|(0,27|0,32|0,41{|0,29|0,33 |0,43
<1400 N/mm? | P 1.3 ABMm 50 60 | 100 0,10/0,1310,21|(0,13|0,17 (0,24 (0,17 |0,210,30||0,19|0,24 |0,34||0,21|0,26 |0,37|(0,22 0,28 0,39 || 0,23 0,29 | 0,40
BeeilN High alloy steels <1400 N/mm? | P 2.1 S AM 40 60 85 0,04 10,06 10,09|(0,09|0,12 (0,19 (0,110,147 0,26||0,14|0,19|0,30||0,15|0,21 0,33 |(0,16 | 0,23 |0,36 || 0,17 | 0,24 | 0,37
B Corrosion and acid proof steels < 800 N/mm? | M 1.1 40 55 75 0,04 |0,05|0,08||0,08|0,11|0,16||0,20|0,15|0,20||0,14 | 0,18 | 0,27 || 0,15/ 0,20 | 0,30 || 0,16 | 0,22 | 0,32 || 0,17 | 0,23 | 0,34

+ DUPLEX

+IH <1300 N/mm? | M 1.2|0) 40 | 50 | 70 0,04 0,05 |0,08|(0,08|0,11|0,16||0,10|0,15|0,20||0,14 0,18 | 0,27 | [ 0,15|0,20|0,30|| 0,16 | 0,22 | 0,32 || 0,17 | 0,23 | 0,34
SE(ER CAST MATERIALS MIN  MED MAX § MIN MED MAX § MIN MED MAX f MIN MED MAX § MIN MED MAX § MIN MED MAX § MIN MED MAX f MIN MED MAX

BBk, BREREE Cast iron, nodular cast iron, o
K =5 ) . . . < 800N/mm? | K11 |5OMD 60 | 120 | 180 0,1010,1510,25|(0,14|0,19|0,28 | (0,18 0,24 |0,35||0,20| 0,26 | 0,40 || 0,22 0,29 |0,43|(0,24|0,32|0,47 || 0,26 | 0,33 | 0,50
ISERERE, AR Vermicular graphite cast iron, malleable cast iron

BESREAEETR (ADI) +HEsE(H Ausferritic cast iron (ADI) + Hard casting <1400 N/mm? | K 2.1

sasEE NON FERROUS MATERIALS MIN MED MAX l MIN MED MAX fl MIN MED MAX | MIN MED MAX [ MIN MED MAX | MIN MED MAX | MIN MED MAX fl MIN MED MAX
BRiEES Aluminium wrought alloys NL11|SHM 160 | 180 | 240 ||0,14]0,19|0,31||0,19|0,28 0,38 || 0,24 |0,33 |0,42||0,27|0,37 | 0,47 || 0,30| 0,41 0,52 || 0,32 |0,45| 0,57 || 0,33 | 0,46 | 0,58
BEAS Aluminium cast alloys <12%Si|N1.2 [HBM 160 | 180 | 240 ||0,14|0,19|0,31||0,19|0,28 0,38 || 0,24 |0,33 | 0,42 ||0,27|0,37 | 0,47 || 0,30| 0,41 | 0,52 || 0,32 |0,45| 0,57 | | 0,33 | 0,46 | 0,58
>12%Si [N13 |5 OM 160 | 180 | 240 ||0,14|0,19|0,31||0,19|0,28 0,38 || 0,24 |0,33 |0,42 ||0,27|0,37 | 0,47 || 0,30| 0,41 | 0,52 || 0,32 |0,45| 0,57 | | 0,33 | 0,46 | 0,58
A+HEEE (KB) Copper + Copper alloys (long-chip.) N2.1|aEM 120 | 140 | 180 || 0,03 | 0,05|0,07 || 0,04 | 0,06 | 0,08 || 0,05 0,10 | 0,13 || 0,06 |0,12| 0,14 || 0,06 | 0,14 | 0,16 || 0,07 | 0,15 | 0,17 || 0,07 | 0,16 | 0,17
HEE EE) Copper alloys (short-chip.) N22[BEM 120 | 140 | 180 ||0,11]0,14|0,19||0,17|0,22|0,30||0,22|0,28 |0,39||0,25|0,31|0,42 || 0,27|0,33 | 0,44 || 0,30 | 0,36 | 0,48 | | 0,31 | 0,37 | 0,50
N BRERES High-strength copper alloys > 800 N/mm? | N 2.3
e Zinc alloys N3.1
HREET Magnesium wrought alloys N4.1
PEBMYER Thermoplastics N5.1
IR R+ FRR R} Fibre-reinforced synthetics N5.2
+ Duroplastics :
B gEGESRESE Ni-, Fe- or Co- base- Superalloys < 800N/mm?|S1.1 | 20 | 40 | 60 ||0,04{0,05]0,07||0,06]|008|0,11||0,10|0,13|0,20(|0,11|0,15|0,23||0,12|0,17 | 0,25 ||0,14|0,18 | 0,27 || 0,15| 0,19 | 0,28
<1600 N/mm? [S1.2 |8 10 | 25 | 40 ||0,04|005]|007]||006|008|010(|0,10|0,12|0,15||0,11|0,13|0,17||0,12|0,14 |0,19 || 0,14 | 0,16 | 0,20 || 0,15 | 0,17 | 0,21
L IN=r] Titanium + Titanium alloys < 800 N/mm?|S2.1
<1300 N/mm? [ S22 |46 30 | 45 | 60 ||0,04|0,05|006]||006|008|0110]|0,10|0,12|0,15||0,11|0,13|0,17 || 0,12 0,14 | 0,19 || 0,14 | 0,16 | 0,20 | | 0,15 | 0,17 | 0,21
HARDENED STEELS
TERREEN Hardened steels <55HRc [H1.1 |04 20 | 35 | 50 ||0,05|006|011||0,08|0,11|0,16||0,10|0,16|0,25||0,11|0,18|0,28||0,12|0,19|0,31 || 0,14 | 0,20 | 0,34 ||0,15|0,21 | 0,35
<63HRc|H12|hH 20 | 30 | 40 ||005|0,06|011||0,08|011|0,16]|0,10|0,16|0,25||0,11|0,18|0,28||0,12|0,19|0,31 || 0,14 | 0,20|0,34 || 0,15 | 0,21 | 0,35
<65HRc|H1.3

o

REIME SEBFUFRIY « LUBRICANT RECOMMENDATION & FLEHR - emuLsion ‘

B « cuTTING OIL M MMS e Mat ‘D Tl ory REIME




— [\\[0]3{1 = NORIS
FRPEES - TWIST DRILL DRILLREX UNI FRAEES - TWIST DRILL DRILLREX UNI
— DIN 6535 HB DIN 6535 HE DIN 6535 HA — DIN 6535 HB DIN 6535 HE DIN 6535 HA
vHM || 5xD || D8 ||+ % vHM || 5xD || D6 ||+ %
140° 140°
l \{ l Yy
d, (he) 140° |3, (m7) = RIEEK d, (h6) 140" |6, m7) =D RIEES
XA A
5 >— < IS >
[ |3 > [ 5 >
D > | I, > - . > e 5 >
< |1 > < |1 >
£53%R - DRILL DEPTH 5xD £5% - DRILL DEPTH
ZRME - SURFACE ALTIN 2R - SURFACE
48} - MATERIAL VHM 128 MATERIAL

IHIKIZZ - TAPPING

3,00
3,10
3,20
330 M4
3,40
3,50
3,60
3,70
3,80
3,90
4,00
4,10
420 M5
4,30
4,40
4,50
4,60
4,65
4,70
4,80
500 M6
5,10
5,20
5,30
5,40
5,50
5,55
5,60
5,70
5,80
5,90
600 M7
6,20
6,30
6,35
6,40
6,50
6,60
6,70
6,80 M8
6,90

M3,5x0,5  MI3,5x0,6

MJ3,5%0,35

MJ4x0,7

M4x0,5 #8-32  #8-36
MJ4x0,5
M4,5
MJ4,5%0,75  #10-24
M4,5x0,5
MJ4,5x0,5 #10-32
M5x0,75
MI5x0,8
M5x0,5 #12-24

M5,5 MJ5x0,5 #12-28

Mi6x1 1/4-20

M6x0,75

M6x0,5 1/4-28

MJ6éx0,5

M7x0,75

MJ7x0,75

M7x0,5

5/16-18

MJ8x1,25 5/16-24

REIVIE

#6-40 UNJF
M3,5x0,5
#8-32 UNJC
M4 MJ4x0,7
M4x0,5 #8-32
#10-24 UNJC
M4,5
M4,5x0,5
M5 MJ5x0,8
M5x0,75
M5x0,5
#12-24
MS5,5 #12-28
M5,5x0,5
1/4-28 UNJF Miex1
M6
5/16-18 UNJC M6x0,75
M6x0,5
M7
M7x0,75
1/16 M7x0,5

[mm]
66 28
66 28
66 28
66 28
66 28
66 28
66 28
66 28
74 36
74 36
74 36
74 36
74 36
74 36
74 36
74 36
74 36
74 36
74 36
82 44
82 44
82 44
82 44
82 44
82 44
82 44
82 44
82 44
82 44
82 44
82 44
82 44
91 53
91 53
91 53
91 53
91 53
91 53
91 53
91 53
91 53

23
23
23
23
23
23
23
23
29
29
29
29
29
29
29
29
29
29
29
35
35
35
35
35
35
35
35
35
35
35
35
35
43
43
43
43
43
43
43
43
43

36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36

0.6
0.6
0.6
0.6
0.6
0.6
0.7
0.7
0.7
0.7
0.7
0.8
0.8
0.8
0.8
0.8
0.8
0.9
0.9
0.9
0.9
0.9
1.0
1.0
1.0
1.0
1.0
1.0
1.0
11
11
11
11
12
12
12
1.2
12
12
1.2
13

[mm] [mm] [mm] [mm] [mm]

0 0 00 0 0 0 0w W 0 O O O O O O O O O O O O G O O O O O O O O O O O O O O O A O A D

T8RS
Article number

D10005AT.0300
D10005AT.0310
D10005AT.0320
D10005AT.0330
D10005AT.0340
D10005AT.0350
D10005AT.0360
D10005AT.0370
D10005AT.0380
D10005AT.0390
D10005AT.0400
D10005AT.0410
D10005AT.0420
D10005AT.0430
D10005AT.0440
D10005AT.0450
D10005AT.0460
D10005AT.0465
D10005AT.0470
D10005AT.0480
D10005AT.0500
D10005AT.0510
D10005AT.0520
D10005AT.0530
D10005AT.0540
D10005AT.0550
D10005AT.0555
D10005AT.0560
D10005AT.0570
D10005AT.0580
D10005AT.0590
D10005AT.0600
D10005AT.0620
D10005AT.0630
D10005AT.0635
D10005AT.0640
D10005AT.0650
D10005AT.0660
D10005AT.0670
D10005AT.0680
D10005AT.0690

M8x1
M8x0,75

7,00
7,20
7,40
7,45
7,50
7,60
7,70
7,80 M9
7,90
8,00
8,20
8,30
8,40
850 M10
8,60
8,70
8,80
9,00
9,20
9,30
9,35
9,40
9,50
9,60
9,80
9,90
10,00
10,10
10,20 M12
10,30
10,40
10,50
10,80
11,00
11,20
11,25
11,30
11,35
11,50
11,60
11,80

M8x0,5

M9x1

M9x0,75

M9x0,5

M10x1,25
M10x1
M10x0,75

M11 M10x0,5

M11x1

M12x1,5
M12x1,25
M12x1

M12x0,75

IHITZZ - TAPPING

MJ9x1,25

MJ10x1,5

MJ10x0,75

MJ10x0,5

MJ11x1,25

MJ11x1

UNJF 5/16-24

M8

M8x1
M8x0,75
MB8x0,5

3/8-16

3/8-24
UNJF 3/8-24 M9x1
M9x0,75

G1/8 M9x0,5

M10
7/16-14

M10x1
M10x0,5
7/16-20

1/2-13

M12

M12x1,5
1/2-20
M12x1
1/4

5/16-24

3/8-16

1/2-13

[mm]

91
91
91

91

91

91

91

91

91

103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
103
118
118
118
118
118
118
118
118
118
118
118
118
118
118

[mm]  [mm] [mm] [mm] [mm]

53
53
53
53
53
53
53
53
53
53
61
61
61
61
61
61
61
61
61
61
61
61
61
61
61
61
61
71
71
71
71
71
71
71
71
71
71
71
71
71
71

36
36
36
36
36
36
36
36
36
36
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
45
45
45
45
45
45
45
45
45
45
45
45
45
45

13
i3
1.4
1.4
1.4
1.4
1.4
1.4
1.4
15
15
15
15
1.6
16
1.6
1.6
1.6
1.7
17
1.7
1.7
1.7
1.8
1.8
1.8
18
1.8
1.9
i1g
1.9
1.8
2.0
2.0
2.0
21
21
21
21
21
2.2

00 00 0 00 0 0 0 00 00 00

S S e sl s o T S T el Tl e T e e e o S S S
N NN R NN NN NN NMDNNMDNOOOO O O O O O O O O o o o o o

=1

1TSS
Article number

D10005AT.0700
D10005AT.0720
D10005AT.0740
D10005AT.0745
D10005AT.0750
D10005AT.0760
D10005AT.0770
D10005AT.0780
D10005AT.0790
D10005AT.0800
D10005AT.0820
D10005AT.0830
D10005AT.0840
D10005AT.0850
D10005AT.0860
D10005AT.0870
D10005AT.0880
D10005AT.0900
D10005AT.0920
D10005AT.0930
D10005AT.0935
D10005AT.0940
D10005AT.0950
D10005AT.0960
D10005AT.0980
D10005AT.0990
D10005AT.1000
D10005AT.1010
D10005AT.1020
D10005AT.1030
D10005AT.1040
D10005AT.1050
D10005AT.1080
D10005AT.1100
D10005AT.1120
D10005AT.1125
D10005AT.1130
D10005AT.1135
D10005AT.1150
D10005AT.1160
D10005AT.1180




NORIS

JAEEL - TWIST DRILL DRILLREX UNI R
- =%

DIN 6535 HB DIN 6535 HE DIN 6535 HA
VHM || 5xD || D6 || <%
140°

= [NoRrE

BRI, B2l

—

d, (h6) 140° | d, (m7) =D fRIERR
¥ A DE_
= EZS I:l'?
i IR AR
- I3 >
< |4 > | |2 >
< | >

EE
TIERSE

1JE
TIERSEE

$5% - DRILL DEPTH
ZRMA - SURFACE
#%} - MATERIAL

HJIEIT42 - TAPPING FREINZZ - COLDFORMING

[=]

2=
Article number

[mm] [mm] [mm] [mm] [mm] [mm]

12,00 M14  Mi3xl 118 71 56 45 22 12 D10005AT.1200

12,10 MI13x1 124 77 60 45 22 14 D10005AT.1210 “Ev§ =
12,20 9/16-12 124 77 60 45 22 14 D10005AT.1220 o
12,50 M14x1,5 124 77 60 45 23 14 D10005AT.1250

12,70 M13x0,75 124 77 60 45 23 14 D10005AT.1270

12,90 MJ14x1,25 9/16-18 124 77 60 45 24 14 D10005AT.1290

13,00 M14x1 124 77 60 45 24 14 D10005AT.1300

13,10 MJ14x1 M14 124 77 60 45 24 14 D10005AT.1310

13,30 9/16-12 124 77 60 45 24 14 D10005AT.1330

13,35 M14x1,5 124 77 60 45 24 14 D10005AT.1335

13,50 5/8-11 124 77 60 45 25 14 D10005AT.1350

14,00 Mi6  Misxl 124 77 60 45 26 14 D10005AT.1400

14,10 MJ15x1 133 83 63 48 26 16 D10005AT.1410

14,20 M15x0,75 133 83 63 48 26 16 D10005AT.1420

14,50 M16x1,5 5/8-18 133 83 63 48 26 16 D10005AT.1450

14,70 M15x0,75 133 8 63 48 27 16 D10005AT.1470

15,00 M16x1 133 83 63 48 27 16 D10005AT.1500

15,10 MJ16x1 M16 133 83 63 48 28 16 D10005AT.1510

15,20 M16x0,75 133 83 63 48 28 16 D10005AT.1520

15,25 3/8 5/8-18 133 8 63 48 28 16 D10005AT.1525

15,35 M16x1,5 133 83 63 48 28 16 D10005AT.1535

15,50 M18 133 83 63 48 28 16 D10005AT.1550

15,80 MJ18x2,5 133 83 63 48 29 16 D10005AT.1580 =

16,00 M18x2 133 8 63 48 29 16 D10005AT.1600 TG%?%J%

16,50 M18x1,5 3/4-10 143 93 71 48 30 18 D10005AT.1650 @’}E' ?(E BEHE%@’
17,00 M18x1 143 93 71 48 31 18 D10005AT.1700

17,50  M20 3/4-16 143 93 71 48 32 18 D10005AT.1750

18,00 M20x2 143 93 71 48 33 18 D10005AT.1800




REINVNE

UNSERE PRAZISION IST IHR ERFOLG

REIME NORIS GmbH
LESAYE SN
ERIELTS (L5) BRAT
EmXT XS 505F5SH502=
& +86 21 5484 0020
% +86 136 6166 7472
WWW.Noris-reime.com.cn
|.tong@noris-reime.com.cn

WWW.Noris-reime.com.cn
NORIS DRILLREX | CN | V01/2023




